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Module Average

ModuleHisto
02 ANAZZTXZO ° 165
o= ot
0.16 _mSV =0.0149
0.14
0.12
0.1
0.08
0.06
0.04
0.02
0 n 1 n 1 n L | | L | | L
0 50 100 150 200 250 300 350 400
FiberHisto
0.2 ":‘/22;17:08239.8
i
RMS v _=0.

0.16

0.14

0.12

0.1

0.08

0.06

0.04
0.02 L_200 F=0.0715
0 n Y n Y n L 1 1
0 50 100 150 200 250 300 350 400
20 pc Deviants D20pc
Nent=1
1] 1+ Mean = 27
£ RMS = -0
= L
o L
#* -
0.8
0.6~
0.4~
0.2
N I I E I BN I B N
0 5 10 15 20 25
Strip ID

Fri Jul 26 11:54:01 2002

L200 per strip

L200s
Nent = 28
g 6'_ Mean = 0.06839
= o RMS =0.01281
s F
*
5
=
i
i
1
o P R L
0 0.02 0.04 0.06 0.08 0.1 0.12
L200
[ L200 Fiber per strip | 2007s
Nent = 28
g 7'_ Mean =0.07215
= - RMS =0.01273
%] -
+ F
6
s
aF
3E
2F
1=
G:..I...I..I...I...I..
0 0.02 0.04 0.06 0.08 0.1 0.1
L200F
30 pc Deviants D30pc
Nent =0
2] 1 Mean = 0
£ RMS = 0
s T+
o -
3+ -
0.5~
0
-0.5—
s NI RPN EPEPEPEN RPRPEPRN RPRPRPR BT
0 5 10 15 20 25
Strip ID

L200 vs Strip

L200Strip
Nent = 28
80'12 Mean x = 14.5
S Mean y = 0.06839
RMS x = 8.078
0.1 RMS vy =0.01281
g
0.08
o gt
0.06 [ ] [ X ]
. ° LN ]
[ ]
004~~~ "~ ~T-TTTTTTTTTTT T oSS ST T ST TS
0.02
0 P B R
20 25 .
Strip ID
[ L200 Fiber vs Strip } L200FStrip
Nent = 28
%0'12 Mean x = 14.5
Q Mean y = 0.07215
- - RMS x = 8.078
01 - RMS v_=0.01273

0.1

0.09

0.08

s | s | s | s | s | s
50 100 150 200

o

250
Distance (cm)




Argonne Scan anl1092Gv on 20011002 with CF ID = 14

.
i

Integral pe
o
P
N
Integral pe
o
I
N

(=]
[N
o
[N

o
o
]
o
o
]

o
o
=
]

©
=}
=

o
o
o
o
o
o

L | L | L | L | L | L |
50 100 150 200

L | L | L | L | L | L |
50 100 150 200

o
o

o
o
° >
III|III|III|III|III|III|III
/ _
h .
o
o
o (o]
III|III|III|III|III|III|III
/I

300 300
Distance (cm) Distance (cm)

i
i

[ — (<] —
Q — o -
T — © —
&> 0.12[— > 0.12f—
154 — E —
£ r £ C
0.1 — . 0.1 — _-\ .
0.08— 0.08— == = -
C " C B
0.06 — - 0.06[—
0.04— 0.04—
0.02 — 0.02 —
0 C L 1 L 1 L 1 L 1 L 1 L 1 0 C L 1 L 1 L 1 L 1 L 1 L 1
0 50 100 150 200 250 300 0 50 100 150 200 250 300
Distance (cm) Distance (cm)

i
i

@ — (<] —
o — o -
T - © -
o> 0.12[— 5 0.12[—
] r 2 r ——
£ C £ C — —— ™
01 - 01— —
0.08— ~——— 0.08—
0.06 — 0.06 —
0.04— 0.04—
0.02 — 0.02 —
0 C ' | ' | ' | ' | ' | ' 1 0 — ' | ' | ' | ' | ' | ' 1
0 50 100 150 200 300 0 50 100 150 200 250 300
Distance (cm) Distance (cm)

Fri Jul 26 11:53:59 2002



Argonne Scan anl1092Gv on 20011002 with CF ID = 14

i

o
[
N

Integral pe

o
-

Integral pe
o
I
N

o
[

o
o
]

o
o
>

o
o
=

o
o
o

1
o©
o
o

o
=}
>

©
=}
=

©
=}
)

o

o
III|III|III|III|III|III|III

o

200 300 50 100 150 200 300
Distance (cm) Distance (cm)

o
-
N

Integral pe

o
-

3

Integral pe
o
I
N

o
[

o
o
]

o
o
)

o
o
=

o
o
o

1
1
o
o
=<

o
=}
>

o
=}
=

©
Q
)

o
a
o

[
(SR

o

200 250 300 50 100 150 200 250 300
Distance (cm) Distance (cm)

=
N

Integral pe
o
B
N

o
[

Integral pe
o
=
N

o
o

o
o
©

o
o
>

o
o
=

o
o
o

d

1
©
o
=2

o©
o
)

o
=}
=

©
Q
)

o
a
o

o

200 50 100 150 200

300 250 300
Distance (cm) Distance (cm)



Argonne Scan anl1092Gv on 20011002 with CF ID = 14

[EEY
w

H
N

Integral pe
o
e
N

o
-

o
o
]

Integral pe
o
I
N

o
[

o©
o
o

o
o
>

o
o
=

o
o
o

o
=}
>

©
=}
=

©
=}
)

o
a
o

[EEN
(631

o
3]
o

200 300 100 150 200 300
Distance (cm) Distance (cm)

Integral pe
o
e
N

o
-

o
o
]

Integral pe
o
e [y
- N

o
o
o

o
=}
>

o
o
)

o
o
=

o
o
o

o
=}
=

©
Q
)

o
a
o

[
~l

o
3]
o

200 250 300 100 150 200 250 300
Distance (cm) Distance (cm)

=
(ee]

Integral pe
o
B
N

o
[

o
o
©

Integral pe
o
o [
- N

©
o
o

o
o
>

o
o
=

o
o
o

o©
o
)

o
=}
=

©
Q
)

o
a
o

o

200

3]
o

300 100 150 200 250 300
Distance (cm) Distance (cm)



Argonne Scan anl1092Gv on 20011002 with CF ID = 14

[EEY
©

N
o

Integral pe
o
o [
= N

o
o
]

o
o
[

Integral pe
o
o [y
[ N

o©
Q
Jec

o
=)
[

o
o
=

o
o
o

'
©
=}
=

©
=}
)

o
a
o

N
[y

o
3]
o

200 300 100 150 200 300
Distance (cm) Distance (cm)

Integral pe
o
e
N

o
-

o
o
]

Integral pe
o
e [y
- N

o
o
o

o
o
)

o
o
=

o
o
o

o
=}
>

o
=}
=

©
Q
)

o
a
o

N
w

o
3]
o

200 250 300 100 150 200 250 300
Distance (cm) Distance (cm)

N
S

Integral pe
o o
o o i
@ - N

o
o
>

Integral pe
o
o [
- N

©
o
o

o©
o
)

o
o
=

o
o
o

o
=}
=

©
Q
)

o
a
o

o

200

3]
o

300 100 150 200 250 300
Distance (cm) Distance (cm)



Integral pe

Integral pe

Integral pe

Argonne Scan anl1092Gv on 20011002 with CF ID = 14

25 ' 26 '
= ® =
- a -
- = -
0.12— > 0.12—
- g -
- E -
0.1 — 0.1 —
0.08[— 0.08[—
0.06[— - — 0.06[— =
0047 0.04—
0.02 — 0.02 —
o L 1 L 1 L 1 L 1 L 1 L 1 ot L 1 L 1 L 1 1 1 L 1
0 50 100 150 200 300 0 50 100 150 200 50 300
Distance (cm) Distance (cm)
27 i 28 '
= ® =
— (=% —
- = -
0.12— > 0.12—
- 8 -
C £ C
0.1 — 0.1 —
0.08 — 0.08 —
0.06 — 0.06[— - = =
0.04f— 004
0.02 — 0.02 —
0 C L 1 L 1 L 1 L 1 L 1 L 1 0 C L 1 L 1 L 1 1 1 L 1
0 50 100 150 200 250 300 0 50 100 150 200 250 300
Distance (cm) Distance (cm)
ModuleHisto_pfx
Nent = 554
I~ — Mean = 166
I RMS = 63.04
0.12—
01 I O O T O AT O I O O A O O
- ' ! $ n
0.08 — - —
- 0.05[—
0.061— 0.04}—
__ 0.03[—
0.04 —
- B L_200 = 0.069
r 0.02— —
0.02— B
- 0.01—
0 C ' | ' | ' | ' | ' | ' 1 0 C ' | ' | ' | ' | | | ' | '
0 50 100 150 200 250 300 0 50 100 150 200 250 300 350 400

Distance (cm)

Fri Jul 26 11:54:00 2002




Argonne LI Scan for anl1092Gv

%) I~ ) :
5 o — ) 2160F
5 F c F
L 5 L
w - 0140—
ch> 5 © OF
s Q E
g - < 120[—
8 4 < ooF F1 Gain |
3 L B 100
= L C
3 80—
- 60—
21— C
- 40f
1 C
C 20—
0 NN N N A A N N N 0 NN NN NNNENENENENENENENENENENENENENENENeNeNe 1 |
0 5 10 15 20 25 30 0 5 10 15 20 25 30
Channel Number Channel Number
%) I~ ra :
c - e L
g 6— 3 160—
e L s E
S s 140
5] C 8 -
3 4 s FJ F2 Gain |
= - © 100
9} r R N
= [ C
3 80—
- 60—
2= C
- a0F-
1 -
C 20—
0 C 1 1 1 1 I 1 I I I 1 1 I 1 1 1 1 I o C 1 1 1 1 I 1 I I I 1 1 I 1 1 1 1 I
0 5 10 15 20 30 0 5 10 15 20 30

Fri Jul 26 11:53:04 2002

25
Channel Number

25
Channel Number




